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LAW
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The objectives of the Preamble of the Constitution of India were first
(1) Adopted by the Indian National Congress at its Calcutta Session.
(2)  Spelt it out in the Indian Independence Act, 1947.
(3) Spelt out in the Objective Resolution moved by Jawahar Lal Nehru and adopted by
the Constituent Assembly on 22™ January, 1947.
(4) Spelt out by the Chairman of the Drafting Committee Dr. B.R. Ambedkar and
adopted on 29" January, 1947.

2.  In which one of the following cases the Supreme Court of India decided that ‘There is no
Fundamental Right to Education for a professional degree that flows from Article 21” ?
(1) Balbir Thomas V/s. Centre for Cellular & Molecular Biology.
(2) Haobijam Rita Devi V/s. Sikkim Manipal and Technology of Health Sciences
University.
(3) P.Raveendran V/s. Union of India.
(4) Tumnyak Etc. V/s. AIIMS.

3.  Match List-I with List-II and select the correct answer using codes given below.
List - I List — II
(a) Maharshi Avadhesh V/s. Union of India (1)  Organisation of Village Panchayats
(b) Kachchh Jal Sankat Nivaran Samiti V/s. (i) Legal Aid
State of Gujarat
(c) M.H. Hoskot V/s. State of Maharashtra (i) Common Good
(d) State of Uttar Pradesh V/s. Pradhan Sangh (iv) Uniform Civil Code
Kshettra Samiti
Codes :
(a) (b) (© (d)
(L @Gv) (i1) (iii) (1)
(2 Gv) (i) (1) (i1)
3 Gv) (i) (i1) (1)
4 @) @1v) (1) (i1)

4. Read Assertion (A) and Reason (R) and give correct answer using the codes given below.
Assertion (A) : High Court has no jurisdiction over the State Administrative Tribunal.
Reason (R) : Because L. Chandrakumar V/s. Union of India has decided so.

Codes :

(1) Both (A) and (R) are right and (R) is the correct explanation of (A).
(2) Both (A) and (R) are wrong.

(3) (A) isright and (R) is wrong.

(4) (A) is wrong and (R) is right.
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fafer
AT - 11
e : 30 Ue-u O a=m (50) Sg-fashedia Uee € | U WRE at (2) 31 € | |t v e ¥

1.  9RA % WL i TRATeHT o 32941 ! HAULH
(1) R T BT T 379 oAbl T | DR T |
(2) YRAET WoEdT uFEE, 1947 § 30 /@ T4 |
(3) STARIATT 9% R T T 3299 TR H 39l STFehRT 3 T 317 22 S, 1947 i
T AT gRT SR ST T |
(4) THET TET & T S AR, SFETH P FRT TSB! STHBRT & T2 3T 39 29 ST,
1947 %! AR T 7T |

2. foeAfafed & 9 6@ ame 4 9RA & Seaad = | Foig 6 € 6 o =e 21 % AR U
PR feait & forw ferem 1 1S et st &l & 2
(1) o dMmT 91 =X R Yool U HIeleR’erk ararelrsh
(2) eifae AeT et 9 fafeern AT X T@reg faem st fovafaemea
(3) . WSA T IR T
(4) T IS a9 T

3. Al w1l % W gHTed S T A ST 1T el 1 ST A g0 el SR 9ad

HIfTT

=t - 1 = - 10
(a) WM STEET S YR T () U Sl 1 e
(b) TS STeT Gehe THAROT AT sAM ToRE T (1) AT Ferr
(c) UATH. EREhi S HeRE IT (i) FEE HqIA
(d) ST LY TT S99 T T & FiAa (iv) THE AR Afedr
FHT:

(=N

(a) (b) (© (d)
1 Gv) (i) (iii) (1)
@ Gy (i) (1) (i)
3 Gv) (i) (i) (1)
@ @) (@Gv) (1) (i)

4.  3NMIH (A) 3R HRUT (R) W {T0R A g Ao ST T el § ¥ Tel SR BT 92 DT :
ATHHAT (A) : ITT T I TG TR TR0 T DR el € |
HROT (R) : FHifh Tel, I5HAR SHM IR 9 § v fHorg fear mn & |
[ YA
(1) THT(A) 3R (R) T € 3R (R), (A) H &l =T E |
(2) SFT(A) IAX(R) T |
(3) (A) TEIT 3R (R) T & |
(4) (A TTod & 3R (R) W& & |
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5. Which of the following statements are correct ?

A. The executive action taken in the name of Governor is the executive action of the
State.

B. The Governor cannot be held personally answerable for any portion of the address to
the Joint Session.

C. The Governor is bound to exercise all his powers and functions on the aid and
advice of his Council of Ministers.

D. The Governor of a State shall be appointed by the President by Warrant under his
hand and seal.

Codes :
(1) A,BandD 2) A,CandD
(3) B,CandD 4) A,BandC

6.  The Supreme Court of India while considering the validity of proclamation of emergency
under Article 356, said that the proclamation is subject to judicial review in one of the
following cases.

(I) S.R. Bommai V/s. Union of India

(2) Makan Singh V/s. State of Punjab

(3) State of Maharashtra V/s. Lok Shikshan Sansthan
(4) M. Karunanidhi V/s. Union of India

7.  The Supreme Court of India said that it is not the duty of the court either to enlarge the
scope of the Legislation or the intention of the legislature when the language of the
provision is plain and unambiguous in one of the following cases.

(1)  Union of India V/s Deoki Nandan Aggarwal.

(2) A.P. Krishna Swamy V/s. State of Madras.

(3) Dharam Dutt V/s. Union of India.

(4) Express Newspapers (P) Ltd. V/s. Union of India.

8.  The positivist methodology of studying law is essentially
(1) antithesis of normative notion of law.
(2) antithesis of analytical notion of law.
(3) antithesis of historical notion of law.
(4) antithesis of sociological notion of law.

9.  The sociological school of jurisprudence is chiefly concerned with the relations of law to
(1) Contemporary Social Ideas
(2) Contemporary Legal Position
(3) Contemporary Political Situation
(4) Contemporary Social Institutions

10. Bentham being a practical reformer, a strong believer in social progress, treated natural
law with little respect and opened fire on natural law as expounded by

(1) Cohen (2) Hegal
(3) Holland (4) Blackstone
Paper-11 4 J-58-16
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5. frfafea § 9 & @ 9T T E 2
A.  TSIUA % 1 TR 6! A dTeA! SHEUTIesh! AT AT S HEITAH! HEdR! € |
B. TUUT S G o Hare o fohdl T o foiu safemd ®0 9 STREE T6 8 har ¢ |
C. TSI 30T Folt URES ol Wl 3R Gole R 370 T STUBRT X Wbt bl it o

faw e & |
D. UH T & ToGUIed i Fgfert Tegufd o gRT 310 g&AR SR T & ded i S |
[ YA
(1) A, B3RD (2) A ,C3RD
(3) B,C3RD (4) A,B3RC

6. ¥RA % ITAqH TR F ST 356 % S AU i STATUN Sl ol T &
T fefatad & 9 fhd ueh et § et € i Sqamon =tass aHteT & 3T €
(1) UH.AR, 9 S 9YRT I
(2) T T T UsT TT
(3) HERTE TST S I {18707 S
(4) TH, HEOMEY I99 IR T

7. Trafated 4 @ 69 O § YRA & S=Ua8 Ao | el 6 S Ao bl 9o T8t 3R
I & Al e 1 98 1 R ¢ o 9 a1 Al S o Qa7 S i HIM H faEdi B 2
(1) 9RT G S ITh! 757 ETA
(2) T FT @H T TE T5T
(3) =Y T I HRA 99
(4) TRE 999 (V) T, I 9Re g

8. A % 3T i URTAS UGid e TT H §
(1) A i FAMeE GROT 1 wfdars
(2) A i TS RO 1 Uidqag
(3) A i UdRITEs €T T Ufdars
(4) A I GESRTET GROT T Ufdars

9. SIRTR F FASHIE A [THRURT 97 €9 W S & efoiad § § 5ed daui s an d ¢ 2
(1) HHSHEAH HHEE [TaR
(2) THEHA Tates fefa
(3) THSHAN T TR
(4) THHA FHITS TR

10. U HAERING FuRE, I T § U7 ST @ aTet o AT 970 = "8 H Sl 9gd
¥ e fear SR Hefeiad § ¥ fhaeh §R1 afdquiied 491 A i =91 e o 2

(1) =i (2) &=
(3) Eie (4) =AFREH
J-58-16 5 Paper-11
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11.  Which one of the following is not a theory of punishment ?
(1) Preventive theory (2) Reformative theory

(3) Concession theory (4) Deterrent theory

12. Match List-I with List-1T and give the correct answer using codes given below the lists.

List -1 List - II
(Kind of right) (Correlative)
(a) Right (Stricto Sensu) (i)  Disability
(b) Liberty (1)) Duty
(c) Power (i11)) No-right
(d) Immunity (iv) Liability

Codes :
(a) (b) (©) (d)
(H G (iv) (i) (1)
(2 ) (i) (iv) (1)
(3) (i) (1) (i) (iv)
@ @Gv) (i1) (1) (iii)
13. Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :
Assertion (A) : A claim to recover a time-barred debt is an imperfect legal right.

Reason (R) : The Statute of Limitations provides that after a certain time a debt shall
become extinct.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) and (R) both are false.

14. Who has criticized International law by remarking : ... this pompous law of Nations
which is so eloquent in books and silent in the cabinets of diplomats.” ?
(1) Emmanuel Kant (2) Edward Collins
(3) H.L.A. Hart 4) J.G. Starke

15.  Who of the following is not the exponent of Dualism Theory ?

(1) Triepel (2) Anzilloti
(3) Hegel (4) Duguit
Paper-11 6 J-58-16

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

11. FfcafEd 5§ ®F 91 Uh < & (G T8l g ?

(1) o fEgm= (2) QURTHS faaT
(3) Tama s (4) TIRIqHRT s
12, g1 3R Gelt-11 1 GAfad i IR gl & =i §T 7T el 61 UEhT 92 el 391 s1T
T -1 = - 10
(AIHR T THR) (GERER))
() R (R () e
(b) T (i) wHA
(c) e (il) g ARIHR &
(d) SH (iv) e

£

(a) (b) (© (d)
(L () (iv) (iii) (1)
(2 () (iii) (iv) (1)
(3) (i) (1) (i1) (iv)
@ @Gv) (i1) (1) (iii)

13. 3 (A) 3R HROT (R) UfeT 3K = fow 0 2l o Gerer ¥ Het 9 AT
ATUHYT (A) : THI-S 0T D! TGl & {oT I 21qu] fafae PR & |
FHROT (R) : IR HFF T€ TS FT & 15 Hiaua T0F o 15 F0T (el & ST |
&he
(1) (A) 3T (R) IHT Tl & 3R (R), (A) B Tel =T E |
(2) (A) 3T (R) 3HT Tl & o (R), (A) i Tt == F&1 € |
(3) (A)FEE, g (R) T ¢ |
(4) (A) 3 (R) I TA € |

14. feafefaa § 9 fre 78 fouol s SR fafy =i STefe T 61 € ; «... T &l I8 3MSwRYoT
fafey St qent § 3Tid AR & 3R ISR & hioHe H g & 17 2

(1) THTSTA HIe (2) TS Hifedq
(3) TATAT B (4) ST, @
15. fr=teifaa 5 9 M §9d & Mg & ufdqaes T&l ¢ 2
(1) gz (2) Ti=TetEr
(3) e 4) giwE
J-58-16 7 Paper-11
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16. Match List-I with List-II and select the correct answer by using codes given below the

lists.
List - I List — IT
(1)  Principle of Subrogation (a) Chorzow factory (Indemnity) case.
(1))  Principle of Estoppel (b) Marommatis Palestine Concessions case

(ii1) Principle of Res judicata.  (c) R. v/s. Keyn
(iv) Principle of justice, equity (d) Case concerning the temple of Preah Vihear.
and good conscience.
Codes :
(a) (b) (©) (d)
GO C)) (i) (i) (v)
(2 Gv) (i) (i) (1)
(3 (i) (iv) (1) (iii)
4 (D) (1) (iv) (i)
17.  Which of the following statement/statements is/are not correct ?
(a) There are four main theories of Recognition.
(b) Anzillote is an exponent of Declaratory Theory of Recognition.
(c) Civil Air Transport Incorporated Co. V/s. Central Air Transport Corporation is a
case on Retrospective Effects of Recognition.
(d) Pitt Corbett is one of Chief Exponent of Constitutive Theory of Recognition.
Codes :
(1) Only (a), (b) and (c) are not correct.
(2)  Only (b), (c) and (d) are not correct.
(3)  Only (a), (b) and (d) are not correct.
(4) (a), (b), (c) and (d) all are not correct.

18. Under which Article of the Charter of the United Nations the General Assembly may
establish such subsidiary organs as it deems necessary for the performance of its
functions ?

(1) Article 20 (2) Article 21
(3) Article 24 (4) Article 22

19. Which of the following statement/statements is/are correct ?

(a) The first Security Council came into being on 12" January, 1948.

(b) It comprises of 15 members (5 permanent members and 10 non-permanent
members)

(c) The Resolutions of the Security Council are binding upon the Members.

(d) Ten non-permanent members of the Security Council are elected by the General
Assembly for a period of 2 years.

Codes :

(1)  Only (b) is correct.

(2) Only (a) and (b) are correct.

(3)  Only (b), (c) and (d) are correct.

(4) (a), (b), (¢) and (d) all are correct.
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16. -1 3T G-I i Grfe HI S Gredt 3% A1 T T F2l 1 Wi T Tel 3o AT

T -1 = - 10
() v o fagra (a) TSTE HFedl (T=AMS) HF
(i) faug =1 fagma (b) AT T FUI g
(i) I == F Eg (c) AR, IATH i
(iv) =T, 9= 3R 5 AT (d)  WieTE foRier & Uiy ¥ Fetad &g

EA)
E T

(2) (b) (©) (d
H (ii) (i) (iv)
(2) (@) (i) (i1) ¢y
3) (i) (iv) (1 (i)
4) () () (iv) (ii)

17. T=foiEad § @ S 91 2/HH 9 T T TR e 2
(a) T % R 97 g § |
(b) TiTeAIS! |l % HOUITeHe [HgT= o Wiques & |
(c) fafoet TeR ZiUie ThiRee o, S Wl TSR ZIFUIC SHIART 1 i HI=IdT & Sctal!
9T ¥ Helfad e & |
(d) e e g & FoeATTS [Fg & THE UduEH § 9 U6 ¢ |
FT
(1) TF (a), (b) 3R (c) T T |
(2) TF(b), (c) 3R (d) T T & |
(3) T% (a), (b) 3 (d) W& TR |
4)  (a), (b), (c) 3R (d) T eI & € |

18. TIH UL & A & b ST o T HETqT 3TU- Fedi o e % T U8 Werae 37
T TTIAT X ool & T8 T8 STe9 g T & 2
(1) =T 20 (2) =T 21
(3) =T 24 (4) FTBT22

19. T=faRad § 9 ST qU/shH 9 50T Tl 878 ?
(a) TETH G UREE 12 oY, 1948 I e | 21E |
(b) TEH 15 TEE ¢ (5 W & 31X 10 31 T54)
(c) &I URug & Tohed W@ & fold STeaadr § |
(d) M URYZ & TH TR T 2 Ut i 1Ay o folw were & gR1 9+ S € |
C TAN
(1) et (b) W& |
(2) T (a) 3 (b) TENE |
(3) A (b), (c) 3T (d) T E |
4) (), (b), (c) 3T (d) TN T & |

J-58-16 9 Paper-11

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

20. Under the Hindu Marriage Act, 1955, the ‘Sapinda relationship’ extends in the line of
ascent, to
(1) Three degrees through the mother and four degrees through the father.
(2) Three degrees through the mother and five degrees through the father.
(3) Five degrees through the mother and seven degrees through the father.
(4) Five degrees through the mother and three degrees through the father.

21. Which of the following statement(s) is/are incorrect ? Answer with the help of codes given
below :
(a) ‘Agnate’ is a person who is related by blood or adoption wholly through males.
(b) ‘Cognate’ is a person who is related by blood or adoption but not wholly through
males.
(c) ‘Agnate’ is a person who is related only by blood wholly through males.
(d) ‘Cognate’ may be ascendant, descendant and collateral.

Codes :
(1) (a) and (d) only (2) (b) and (d) only
(3)  Only (c) (4) (a) and (b) only

22. Answer with the help of codes given below :

A decree of judicial separation :

L. Does not dissolve the marriage tie but merely suspends marital rights and
obligations during the subsistence of the decree.

II.  Dissolve the marriage bond.

III. Becomes a ground of divorce for either party after a specified period of non-
resumption of cohabitation.

IV. Does not allow either party to remarry.

Codes :

(1) I, I & IV are correct, but II is incorrect.

(2) I, II & III are correct, but IV is incorrect.

(3) 1II, IV & III are correct, but I is incorrect.

(4) IV, II &1 are correct but III is incorrect.

23. Match List-I with List-II and give the correct answer by using codes given below the lists.

List -1 List - 11
(a)  Smriti (1)  What was heard
(b)  Shruti (i) Jimutavahana

(c) Dayabhaga (i11) What is remembered
(d) Mitakshara (iv) Vijnaneshvara
Codes :
(a) (b) (©) (d
(H (@) (i) () (i1)
(2 (i) (iv) (i) ()
3 O (i) (i1) (iv)
4) () () (i1) (iv)
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20. fe5 foame atfufam, 1955 % 3iaria “qfte Tae H SR o A o1 fawdr e & —
(1) HaT % 91y @ diF difeat iR far & qream 9 9 dfeat
(2) O % qreqq § o difear AR fudr o s 9 O diigat
(3) WG % Ty 9 Ui it T fudT o AeEm 9 9ig difgat
(4) O % qreaq 9 Ui qfedt i e & qrery 9§ |9 diigat

21. TF=AfEd 9§ 9 F F/HH § F99 Toid &/8 ? i T T Fef Sl Ferdar ¥ 3T iU ;
(a) T 9T ¥ Hefu oAl 98 & S quidaT Jeu o AT § T AT e UevT O gRT Heitad
T

(b) T AfHT 98 & S TG AT TAB-EYT % FRT Tared & W o oo & v §
grall

(c) g v ¥ Fefa =afert o & ST quiaan el & A § sheel T % 51T Taidd € |

(d) I TR, TeRE 3R Fuieass & Tohar ¢ |

G YA

(1) %a (a) 3R (d) (2) %a (b) 3T (d)

(3) e (o) (4) %A (a) FR (b)
22. U U et b WErEr ¥ TR S

RIRER eI R aREE I

[ Toome s & faaed F6l oar © 31fuq Sheet feshl & 3ieded o SR dalesh BRI 3T
TR ol eAfeid e € |

II. foaw d&y & faueT war e |

I HEa™ U319 & & & faffee @ty & avarg sHr 9ell & foT qores &1 emeR a9
ST |

IV. T & &l o1 GAfoeTe S SHfd F&l 31 ¢ |

HE

(1) LIISARIV T E gl g |

(2) L II3RIITE € Fhg IV T € |

(3) ILIV IR T BT Toa € |

(4) IV, 11 3R 1 W&l & g 111 Teta & |

23. A1 3R GE-I1 1 G ST ST gied % e KT 10 et %1 7T Y He S S

T -1 = - 10
(a) i (i) STET
(b) Hia (i) o
(c) TAN (iii) i @7 fmar &
(d) Taanw (iv) foRmweR

T4

(=N

(a) (b) (©) (d

(H (@) (i) () (i1)

(2 (i) (iv) (i) ()

3 O (i) (i1) (iv)

4) () () (i1) (iv)
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If a Muslim woman is pregnant and the marriage is dissolved by death of the husband, the
period of ‘iddat’ is for :

(1) 3 months or unto delivery, whichever is longer.

(2) 3 months and 10 days, or unto delivery, whichever is longer.

(3) 4 months and 10 days or unto delivery, whichever is longer.

(4) 3 months and 20 days or unto delivery, whichever is longer.

Which of the following is no longer an important source of Muslim Law in India ?
(1) Ijmaa (2) Customs and Usages
(3) Sunnah (4)  Judicial Decisions

Read the following propositions and answer with the help of codes given below :
Propositions are :

I :  Consent theory makes the divorce very easy.

II: Consent theory sometimes makes the divorce very difficult.

Codes :

(1) IIis correct, but I is incorrect. (2) Iand II both are incorrect.
(3) Iis correct, but II is incorrect. (4) Iand II are both correct.

Read Assertion (A) and Reason (R) and with the help of codes given below, point out the
correct explanation.

Assertion (A) : In Mohori Bibee V/s. Dharmodas Ghose, Sir Lord North observed : “The
question whether a contract is void or voidable does not presuppose the existence of
a contract within the meaning of the (Contract) Act and can arise in the case of an
infant.”

Reason (R) : Ever since this decision in Mohori Bibee V/s. Dharmodas Ghose case, it has
been doubted that a minor’s agreement is void.

Codes :

(1) Both (A) and (R) are right and (R) is correct explanation of (A).
(2) Both (A) and (R) are wrong.

(3) (A) is wrong, but (R) is right.

(4) (A) is right, but (R) is wrong.

“An offer need not be made to all the world which is to ripen into a contract with anybody
who comes forward and performs the condition. It is an offer to become liable to anyone
who, before it is retracted, performs the conditions, and although the offer is made to the
world, the contract is made with that limited portion of the public who come forward and
perform the condition on the faith of the advertisement.”

Above statement is attributed to
(1) Bowen L.J. in Weeks V/s. Tybald
(2) Bowen L.J. in Carlill V/s. Carbolic Smoke Ball Co.
(3) Bowen L.J. in Lalman Shukla V/s. Gauri Datt
(4) Bowen L.J. in Malraju Lakshmi Venhayyamma V/s. Venkata Narasimha Appa Rao
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Ifs sk e Hfeet Tedt & 3T ufd o gog % HROT foaTe 9T 81 S €, TgRa B e
(1) o 5% a1 T9a a, ST o el 8 |

(2) o9 9@ 3R 10 &7 21 yge a, S o A a |

(3) TR TE AR 10 &7 a1 v A, S off AT |

(4) o9 9@ 3R 20 &7 21 yge a, S o AT E |

f=feiad & 9 i 319 9Ra | GReTd B S Hewqul Ald el &7 2
(1) ¥ (2) Flgar 3Ry
(3) G® (4) e i

FreAfeIRae srReTe st Ufel 3R i< ST T el ot Feradl ¥ ST ST
TE ¢

[ . HeHd %1 g qoieh ol Tl -1 € |

I1: Heud %1 Mg F-FT Teleh i 2T~ HicT S & |

®HT:

(1) HNEeFEqITeae | (2) 1RIISH ToAd & |
(3) I sRgITede | (4) IR TEIE |

3 (A) 3R HROT (R) UleT 3T = 5w T 2t 1 v sheeh S Sl ;

AT (A) : HRRI Sl S U =Y & A 9§ @ ore 1Y 3 78 feoqot =6t
“Tg U9 1ok hIg WIosT I & AT YA & o8 (FiasT) Taiom o 37 & WiaR dreRT &
NTeTed BT GATH el el & 37X ot f7e] o Aot | Seq=T &l ebell & 17

HRUT (R) : HER] di6l a9 YHEE &0 & 79 | 39 079 o o1 39 a1d 0 §eg fohal ST o
o fepdll o1l T WX I & |

E T

(1) (A) 3T (R) SHT T&l & a1 (R), (A) T T AN E |

(2) (A)IATR) I TATE |

(3) (A) T g, W (R) T T |

(4) (A)TE, R (R) A& |

Tl TRETel T WfesT W uRatad i o foft e T fova o fetw fohe ST a6t smrarearehat el &,
IS o 3T 37 Fehell & 31T AT BT G T Tebell & | T8 Ueh U™ & il fodl oft 39 =afert o forw
T T 38 id UeATeh{id 21T &, ST St R B &, F v fova % o & uiq |ferst s &
;H@ﬁﬁwésw%ﬁmw%ﬁaﬁaﬁ%ﬁ%ﬁmwwwwwww

o

UG F2 FRa Heited § 2

(1) e TAS, died sAW argares J
(2) IOF TAS,, HITTd S HIEcrd T o1 &, H
(3) AT UAST,, TATeTH I[FT S99 TR 9 |
(4) AT TAST,, HoRS] AeH! SFer T - dehe W 37001 Td |

J-58-16 13 Paper-11

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

29. Which of the following statements are correct ? Answer using codes given below :
(a) Adequacy of consideration is necessary.
(b) Adequacy of consideration is for the court to consider when contract is sought to be
enforced.
(c) The court will enquire whether consideration was equivalent to the promise which
was given in return.
(d) Inadequacy of consideration may be taken into account by the court in determining
the question whether the consent of promisor was freely given.
Codes :
(1) (a), (b), (c) and (d) are correct. (2)  Only (b), (c) and (d) are correct.
(3) Only (c) and (d) are correct. (4)  Only (d) is correct.
30. Which of the following statement’s is/are wrong ? Answer using codes given below :
(a) Claim for damages is debt.
(b) Damages are compensatory, not penal.
(c)  Where the plaintiff suffers no loss, the court may still award him nominal damages
in recognition of his right. But this is in the discretion of the court.
(d) In ordinary cases damages for mental pain and suffering caused by the breach of
contract are not allowed.
Codes :
(1) Only (a) and (b) are wrong. (2)  Only (b) and (d) are wrong.
(3)  Only (a) is wrong. (4)  Only (d) is wrong.
31. Match List-I with List-II and select the correct answer using the codes given below.
List -1 List - II
(Mistake as to subject-matter of contract) (Judgements)
(a) Mistake as to non-existent subject-matter. (i)  Bell V/s. Lever Bros. Ltd.
(b) Mistake as to title or rights. (i) Raffles V/s. Wichelhaus
(c) Different subject-matters in mind. (i11) Gustavus Couturier V/s. Robert
Hastie
(d) Mistake as to substance, nature or quality (iv) Sheikh Bros. Ltd. V. Ochsner.
of subject matter.
Codes :
(a) (b) (© (d)
(CORENCY (iii) (i1) (iv)
@ (i) () (i1)
(3) (i) (1) (i1) (iv)
@ @Gv) (i1) (1) (iii)
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29. freferiaa & 9 i 9 o Tl € 2 A ST T el b T e SeR S
(a) Wiq®e ! JEIT AEIH € |
(b) UTd%eT I JATAAT U =TT FRT [OaR {ohar ST STe GasT 61 Feld fohal ST &t |
(c) ICH Tg Yot A foh Fa {3 7o el g/ | fohU 7T Hfawel o 99 7 |
(d) UTd®eT i AT BT AT FRT TE TN HL o [T & T T@T ST G Toh .

SFEETAT T FewH W WEHr ot |

E T

(1) (a), (b), (c) AR (d) I & | (2) & (b), (c) 3R (d) W& |
(3) FHae (¢) AT (d) W E | (4) a (d) Tl &

30. ffafed § & S A" FF TOd /8 ? T KT T e 1 IET T T ST KN
(a) THHI & foIT T RO Y |
(b)  THTF WA &Il &, TUSTHD Tl |

(c) T ST T IS BT T eidl & ot i =TI ST 3T BRI i HaT e F Al
THGHT TR Y Tl © | T Te =TT o fadeh I R e € |

(d) FTHRYT G § GART-HT % HRUT g dTel ARG Wel 31X 38 % fold JeharT i ST

T
E T
(1) et (a) 3R (b) T € | (2) A (b) 3 (d) T E |
(3) e (a) TAE | (4) et (d) T E |

31. G-I G-I & T Y 31X A9 ST T el 1 STFnT ek Tal 3T B 93T Y

T -1 = - 10
(wfaeT i fawar-awg & Haia § o) (ot
(a) Tova-axg 1 eifadce B 7 gH O Halfud et () ST 99 oeR S, o
(b) &F AT ATPR F ared g1 (i) IHeq T faecle™
(c) T o = foug-ax] &1 aFt (iii) TATGH PR FAH T Tl
(d) Toug-eRg & U, UHd a1 e ¥ Gatad  (iv) 99 S, T S SR

T

(a) (b) (©) (d)

(C) RN ) (iii) (i) (iv)

@ @ (i) (iv) (i)

(3) (i) (1) (i) (iv)

(CORNCL) (i) (1) (iii)
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32. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : It is well settled that if and when there is frustration, the dissolution of the
contract does not occur automatically. It depends on the ground of repudiation or
breach, or on the choice or election of either party. It does not depend on the effect
of what has actually happened on the possibility of performing the contract.

Reason (R) : Because Lord Wright laid down this principle in Denny, Mott & Dickson
Ltd. V. James B. Fraser & Co. Ltd.

Codes :

(1) Both (A) and (R) are right and (R) is correct explanation of (A).
(2) Both (A) and (R) are wrong.

(3) (A) is right, but (R) is wrong.

(4) (A) is wrong, but (R) is right.

33.  Which of the following are important cases on maxim Damnum sine injuria ? Answer by
using codes below :

(a) Dickson V/s. Reuter’s Telegram Co.

(b) Ushaben V/s. Bhagyalaxmi Chitra Mandir
(c) Ashby V/s. White

(d) Municipal Board of Agra V/s. Ashrafi Lal

Codes :
(1) (a) and (b) (2) (c) and (d)
(3) (a)and (¢) (4) (b)and (c)

34. Arrange the following cases in chronological order by using codes :
(a) State of Rajasthan V/s. Vidyawati
(b) State of Gujarat V/s. Memon Mohamed
(c) Rudal Shah V/s. State of Bihar
(d) The Secretary of State for India in Council V/s. Hari Bhanji

Codes :
() (a), (b), (c) and (d) (2) (d), (a), (b) and (c)
(3)  (d), (¢), (a) and (b) 4) (d), (b), (c) and (a)

35. ‘A’ threw a lighted squib into a crowd, it fell upon ‘X’. ‘X’ in order to prevent injury to
himself threw it further, it fell upon ‘Y’ and ‘Y’ in turn did the same thing and it then fell
on ‘B’, as a result of which ‘B’ lost one of his eyes. Who is liable to ‘B’ — ‘A’, ‘X’ or
GY’ ?

(1) No one is liable on the principle of remoteness of damages.

(2) ‘A’ is liable because his act is most proximate cause of damage even though his act
was farthest.

(3) ‘X’ is liable because he threw the squib without any danger to him.
(4) ‘Y’ is liable because he caused the injury.
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32, FHET (A) 3R HROT(R) dfew 3R A= w10 et w1 v e wel ST AT
ANTHAT (A) : Tg GRS & fb TiasT & Fohet & STH W 39! fogsd @d: &l g1 & | 98
THRTERROT 7 91 % MU UX AT fohedl ff TeTeh o Torehed T FTel UX el el © | 3 TferaT
T ITei fhT ST ol THTEAT WX The afereh ST & TeTel o ShROT &, WX TR =78t e |

HIUT (R) : FH ATS T 7 TE [Hgia S, AT T-g fea 1. I 9w oY, o WS o, fo.
T fafed ferar € |

£

(1) (R) 3R (A) IHT Tl & 3R (R), (A) H Tel = E |

(2) (A)IATR) I TATE |

(3) (A)WET, WI(R) T |

(4) (AT E, W (R) W& |

33, SHH QA TYRAT gl W HEeiEd § 9 HiF § Hewoyul 9 STHIRG § 2 Hrd [{T T gl
T T T 3T T

(a) T 999 TFeH AU HHT

(b)  SUEH T AFacted o AieY

(c) ST T ®Tee

(d) TFMUS TS 31F STRT T ST AT

Elg‘d':
(1) (a) 3R (b) (2) (c) 3R (d)
(3) (a) 3R (c) 4)  (b) 3R (c)

34, TG HaT T Hi T AT FT T&l HITBHHIER AT HIfT :
(a) TR ToF S To=imadt
(b) TR TST S AT Hie™g
(c) TTA IME T (TR T
(d) T ke 31T W ®R AT T Rl S & ST
B :
(1) (@), (b), (c) X (d) 2)  (d), (a), (b) &R (c)
3) (@, (©), (a) 3R (b) @) (@), (b), (c) ¥R (a)

35. ‘A’ J U oAl g8 Forere! g W ek 81, Fg X W R | X0 7 WE B 9 ¥ 99 & fow 58
3 e feam, g8 Y’ WA R Y’ 3 O o' R o T TR B WY i, e aiomasn
‘B’ %! Ueh 3@ TeAl TS | ‘B’ o Ui S STEE € A, X A Y’ 2
(1) &gl o TEIaT % (g % STER W B IR T8l ¢ |
(2) ‘A’ SIS & FiTh SR P &I BT GaId TR IR HRUT & 9ol & SR T T 0
o |

(3) X’ STEHE! & Fih ST Folgrel 39 W o fohdl TR & Hehl |
(4) Y’ STREET & T 3P HROT I Ggl |
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36. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : In case of vicarious liability a master is held liable for negligence of his
servant in driving his vehicle in the course of employment.

Reason (R) : Municipal Corporation cannot be held liable for the negligence of its servant
in driving a vehicle belonging to corporation in course of its business.

Codes :

(1) Both (A) and (R) are right and (R) is correct explanation of (A).

(2) Both (A) and (R) are right, but (R) is not the correct explanation of (A).

(3) (A) is right, but (R) is wrong.

(4) (A) is wrong, but (R) is right.

37. Match List-I with List-II and select the correct answer by using the codes given below.

List -1 List - II
(Name of Case) (Decision)
(a) Indian Council for Enviro-Legal (i) Patient’s consent for the operation did not
action V/s. Union of India. imply consent to the removal of her uterus.
(b) Ryland V/s. Flecher (1)) Absolute liability on enterprise carrying on

hazardous and inherently dangerous activity.
(c) Lakshmi Rajan V/s. Malar (iii) Liability for keeping dangerous things on

Hospital Ltd. land.

(d) Union of India V/s. United (iv) Contributory negligence of driver cannot be
Insurance Co. Ltd. imputed to passengers.

Codes :

(a) (b) (©) (d)
(1 () (iii) (1) (iv)
@ O (iii) (i) (iv)
3 () () (i) (iii)
(CORNCY (i) (i)  (@v)

38. Which of the following statement/statements is/are incorrect ? Answer by using codes

given below :

(a) Mistake of fact or of law, is generally a defence to an action for tort.

(b) Law permits use of reasonable force to protect one’s person or property.

(c) Act of God is a defence if there is working of natural forces with ordinary
occurrence.

(d) Inevitable accident is not a good defence if the defendant can show that he neither
intended to injure the plaintiff nor could he avoid the injury by taking reasonable

care.
Codes :

(1) (a) and (b) only. (2) (a), (b) and (c) only.
(3) (a), (b), (c) and (d) all. (4) (a), (c) and (d) only.

39. Refusal to answer to an authorised investigating officer could be punished under Section
179 of Indian Penal Code, while giving false answer statement in that process could be
punishable as per

(1) Section 180 (2) Section 193
(3) Section 181 (4) Section 183
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36. 3TFEA (A) 3R HROT (R) Uiy 3R F=t KU M0 2t ot SR Y I ST

e (A) : Wfaffs a9 B i o aeH & 3T o 3Tt el o™ § AT 6
SURTT o oI SRS S8 ST & |

HRUT (R) : TR 9 & 39 & &7 F19 o M T | 3107 A1 ot oTRae! & fow
ST =T8T 3T ST Hehell € |

E T

(1) (A) 3T (R) AT Tl & 3R (R), (A) H T&l =M E |

(2) (A) 3T (R) SHT W&l &, T (R), (A) Tl T =W 761 € |

(3) (A)TEE HIR) AL |

(4) (A T &, fhg (R) WET € |

37. A1 3R GE-11 9 G ST S grear & e KT T et S TEeT Y 98 ST ST

=t - 1 = - 10
(T BT W) (Froma)
(a) eI HIEA ®BR TAEI-ATA (1) Tod-Fibedr & AT WIS o TeHid w1 o
TR S qRT T IR TR FhTeT Tal ot |
(b) A T FoleR (i) STREAYET 3R 3T T ¥ TaRATh HRIHe

T el SUSHH T ST ST
(c) TRRHAT IEH 9 AR e (iii) STHIF T WaRATe el W ol STREIac

fafaee
(d) 9RG I FAW FARCS TIIEH  (iv) TTCTH H AR U Hl GATRAT T SRS
T feates el fepa ST |ehe |

E T
(2) (b) (©) (d
() () (i) (1 (iv)
2 O (i) (i1) (iv)
3) (@) () (i1) (i)
4 (i1) (i) (iv)
38, TAfGiREd # & &9 T FA/EA § FIF Fel T8l &8 2 A KU T R A JE FR TE IW
it :
(a) a2 ! A fafy o goT HEFEaEn 3Tuhed 1 UideT € |
(b) oty ferdt safar a1 Tt ot T & forw Sfod o1 & W @ Al AT e |
(c) < FT T UqaTg eIl & ATE TTURT TAT o T UTeh{cTeh okl ol 1 & |
(d) TS EEAT U 3737 UfdaTs el € afs uiqarsl 98 591 9o o 7 Al SHeT S o
e TEAMT AT 7 &1 9 Srad WaEH SR H Al | IF Fehell AT |

C YAH
(1) e (a) 3 (b) (2)  Ha (a), (b) 3R (c)
(3)  (a), (b), (c) 3R (d) T+ (4) = (a), (c) 3R (d)

39. WITeRId Sia SR T 3T 57 T AT AT AR S8 GieaT st 9RT 179 o 3idqvd sted o s
Hehell €, STateh 39 UIshaT | TTotd 3T ST Tohd 4RI o el ST € 2

(1) 180 (2) 49193
(3) &mrigl (4) €NT183
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40. Under what circumstances gross negligence could amount to knowledge as may be

required under Section 299 of Indian Penal Code to impose punishment ?

(1) Bonafide belief about a supernatural thing resulting in the direct consequence of
death.

(2) There was pre-supposition that death will result.

(3) Presumption is that the accused had knowledge about the consequence of his act that
resulted death.

(4)  When there is clear difference between lower or higher degree of criminality.

41. ‘Sedition’ as explained in Sec. 124-A is akin to treason and the offences are against the
State. But certain gestures like cartoons, although may not have wit or humour could not
be penalised because :

(1) It carries only anger or disgust.

(2) The mere act causes dis-affection to the government.
(3) Represents dis-loyality against the government.

(4) The manner of expression is to change the government.

42. The judicial reforms unfolding the mistry behind medicalisation of consent in rape cases
has an impact of less nuanced understanding by the phallocentric society is based on
(1) Compromise is Rape cases.
(2) Ramification against sanctions of law in rape cases.
(3) Resulting out of love affairs against the societal codes.
(4) Juvenile governance of gender issues.

43. When a minor leaves her parental house completely without any inducement from the
accused, then what offence it amounts to ?
(I) Abduction (2) Enticing
(3) Kidnapping (4) No offence

44. Which of the following distinctive feature do not relate to wrongful restraint and wrongful

confinement ?

(1)  Wrongful restraint is partial restraint of personal liberty while wrongful confinement
is absolute restraint of personal liberty.

(2)  Wrongful restraint implies wrongful confinement.

(3)  ‘Wrongful confinement’ requires circumscribing limits while ‘wrongful’
representation is boundaryless.

(4) In wrongful confinement there is restriction of movement in all directions, while in
wrongful restriction the movement is not total restriction in all directions.

45. Rejection or modification of Award may be made by the Appropriate Government by a
Notification
(1)  On the ground of National Economy or Social Justice.
(2)  On the ground of error in the Award.
(3)  On the ground of prejudice caused to a section of workers.
(4)  On the ground of Quantum of Award.
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40. o IRTEITTET § O] U 1§ SRIYT HH & [T YR 5 Gledn o 9r1 299 & S
T STUTRT STHHRT AT ST Febell & 2
(1) 3rciifere =it o IR § gE! fowam 57 SRoT gog ot Hrem gy ga |
(2) Yoo T UROTEG: Tog &R |
(3) SUUROT fF SRR T 310+ FHE, TP IRUMHEET Tog g2, & UM 6t STHERT o |
(4) 9 Y H = 1 S fell g W TR |

41. R 124-A Ht =0 éo‘\ﬂtwu STEIE %IWW%H@%WW%WW% | fepe]
HATT ST S HEA, FTelich STH ATHULAT 3R eI &l &, i fed &l far ST Fehall &
AT
(1) Te 9% sy a1 foxfe & o e ¢ |
(2) TEHE Y WHN & Uid Te HH e e |
(3) WHR & faog favad=iaar sl uidtarad s g |
(4) AT S el TR | glaa & ew € |

42. FOATTHT HHl H G & FAThicaehioT o U W i aTel =A1aeh GER T ol Hisd FHs 51T
T 1 U9 FfeAfad 9§ 9 fa o e € 2
(1) SAET % &at § qoeir
(2) SATET BT H HA 6 Ufaae & fovs wemE
(3) QTSI igdrstl o foeg U8 Foga & uRomHd: 8 arer
(4) for fouges get 1 Rk S

43. T U 3FEh, AGET F Rl FeiT o feT ST HTa-fudT @7 SR O aXE 9 ®i Id1 § o T8

I T 3T 2
(1) 9&Io (2) FEAHT
(3) =TI (4) HE Y T |

44, Frafafed § & S G faear egeT serty 31X el aiiies ¥ Tetyd T8t § 2
(1) TI9YOT 3TeRTY AT WA BT 3T TR & STalfeh JTYUT YRR ST W=
1 J07 MR ¥ |
(2) SIoYUT TERIY T 37 YT URRIEH € |
(3)  SIooT R & foTw IR 3 ST B1t & STafeh SISquT SidtHree St i T e e |
(4) SOl afRIe | Fedt feemell § oTH-STH U’ Uiy ga § St s1oye uidey | @t fgem |
M-S WX qoT Uidee &l &Il ¢ |

45. U ATIYTAT % AN Y SUYHRT THR & FRT SEURT T SRENHIOT SFora TENe Tohar ST Fehelt
T
(1) T STIFET 3T WIS =1 o ST T
(2) o ° Jfe & MR W
(3) iR % T o & JATUE HROT & TR W
(4) YU T AT o TR T
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46. Read Assertion (A) and Reason (R) and answer using the codes given below :

Assertion (A) : The power to refer disputes to Industrial Tribunals and enforce their
awards is an essential corollary to the obligation that lies on the Government to
secure conclusive determination of the disputes with a view to redressing the
legitimate grievances of the parties.

Reason (R) : Such obligation arise from the imposition of restraints on the rights of strike
and lock-out.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

47. Under the Industrial Disputes Act, the Conciliation Officer has
(1) Legal duty and can summon the parties for an amicable settlement.
(2) No legal duty till some action is taken against the workman and can only persuade
the parties for an amicable settlement.
(3) Legal duty for which a writ of Mandamus lie.
(4) Legal duty coupled with adjudicatory powers.

48. Which one of the following statement is correct under the Industrial Disputes Act ?

(1) Collective Bargaining agreements are enforceable as a settlement arrived as between
workers and employers.

(2) Collective Bargaining agreements are treated as gentlemen agreement and hence
enforcement depends on goodwill of the parties.

(3) Collective Bargaining agreements are not enforceable until it is approved by the
Government.

(4) Collective Bargaining agreements are enforceable only through court of law.

49. “To deter reckless, unjust, unfair or malafide closure, the requirement of a prior
permission for closure by itself cannot be unreasonable restriction on the fundamental
right of an employer” was observed in one of the following case :

(1)  Excel Wear V/s. Union of India.

(2) Hindalco Industries Ltd. V/s Union of India.

(3) Workmen V/s. Meenakshi Mills Ltd.

(4) Papanasam Labour Union V/s. Madura Coats Ltd. and another.

50. Which one of the following statement is right ?
(1) A Registered Trade Union can create a separate political fund for the promotion of
civic and political interests of its members.
(2) A Registered Trade Union cannot enter into contract with anyone in its own name.
(3) A Registered Trade Union cannot enter into agreement with its members.
(4) A Registered Trade Union cannot acquire, hold and dispose of movable properties.
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46. 3MIH (A) 3R HRUT (R) W TR Fd gT A ST 7T i H F Tt 3T Bl 997 Y
ANTHAT (A) : SRR TR0 & U foaRT & 95 31X 3% U0 T o] e i
ST TRPR W ¢ ANh T&ll Dbl AT FTehraal & o o giee § faamsi & g
TTRoT =l FRfTT foRar ST | |

HRUT (R) : BTl 3T ATAT-SRT o ARIBHRI O e o § UE! Sregard Sl & |
C TAN

(1) THT(A) 3R (R) Tl & 3T (R), (A) ! T A& |

(2) TFT(A) 3T (R) Tl € @b (R), (A) ! &l =31 & & |

(3) (A) W&, AT (R) T ¢ |

(4) (A) T &, Al (R) T&I § |

47. 3iitnes foerg etfufrem & eidia, Taee AR R) W ¢
(1) Tafuss HdeT IR U HiERyel THeid & [T Ueil T T 9T TohaT € |
(2) s % fEel® Fo ST 6T S 0 Hig afus wder F&i iR fak v ey gueia
o 7T &Tl =l TS o Hehell & |
(3) Tafuss shiea foraes ford TR e &t afae Hied € |
(4) Tafuss e & g Hoiges i

48. i foarg erfufram & siqia Frefafad & 9 5 91w 98l € 2
(1) =Rt 3R MRS & die U qHeid o T rfess dears qHeid Je—a § |
(2) AYfE TS Qe S W TSl o & H THAT ST & 3R 30 YR F Wl ugll &
TR W R AT |
(3) AMfE RaTT o TIBR & FRT Wihd e dh Taa-=1a el eid & |
(4) A e GHEi Sheet iy =ImTerd o §RT & vaeHT 8 & |

49, “STEYMT, SO, ST SIS FHEYUT FHYS i ST e & oW, T & §RT G &
TIT Uk qaT AT T STl Uk (AR & gfFaeT sifdR 9 Siad widey Fet & ehar
&1 FAfeiiEd B § 69 9ol § 3tater foman i o 2

(1) TS TR 99 9Ra 99

(2) TE=OThl TSRS [AHds s TR T

(3) e sAM =l foew fafes

(4) HIIATRN SR FEA 9 HgA e ftiee v o

50. TrefeEd & 9 i 91 o e T 2
(1) U Usiighd AR | 210 G % AN 3R TSI f&dl o Wedmed & fow e g2
TSI 1 T 0T T FhelT € |
(2) U Usiihd AR e 310 G o A I fealt & off Trer goeher e o gehe |
(3) U USiehd AR T 3104 GS&T & A1 qHEHAT Fal Y Tehell |
(4) U USTHd AR To 961 GHIraal o ST, gROT 3R a9 T8l Y TehdT |
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